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Question Number : 1 Question Id : 50521228337 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The social expectations at each stage of development is referred to as
Options:

1. Developmental tasks

2. Developmental needs

3. Developmental hazards

4. Developmental domains

Question Number : 1 Question Id : 50521228337 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 50521228338 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Development

Options :

1. proceeds from centre of the body in an outward direction.
2. development proceeds from bottom to top.

3. is unidimensional.

4. is not influenced by environmental efforts.

Question Number : 2 Question Id : 50521228338 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 50521228339 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Assertion (A): Cognitive development progresses quite rapidly till middle childhood and then

comes to a stop.

Reason (R): Human beings cannot learn new things after the stage of middle childhood.

Choose the correct option.

Options :

1. Both (A) and (R) are true and R is the correct explanation of (A).

2. Both (A) and (R) are true but R is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 3 Question Id : 50521228339 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 50521228340 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A group of children enact scenes from a popular dance reality show in their play. As a judge, 8
years old Sana gives comments on other children's dances. This situation highlights the important

role of in the socialization of children.
Options :

1. religious institutions

2. family

3. media

4. school

Question Number : 4 Question Id : 50521228340 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 50521228341 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Jean Piaget's theory of cognitive development, in which stage children gain the ability



to seriate objects in a specified order?
Options:

1. Sensory motor

2. Pre operational

3. Concrete operational

4. Formal operational

Question Number : 5 Question Id : 50521228341 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 50521228342 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Jean Piaget, an ongoing process which refines and transforms mental structures is

called

Options :
1. Deferred Imitation

2. Object Permanence



3. Assimilation

4. Equilibration

Question Number : 6 Question Id : 50521228342 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 50521228343 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

After seeing students struggling to solve a problem, a teacher gave them hints and half solved

examples to assist them.

As per Lev Vygotsky's theory, this is an example of

Options :

1. scaffolding
2. reversibility
3. seriation

4. expository teaching



Question Number : 7 Question Id : 50521228343 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 50521228344 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which theorist asserted that cognitive development is a collaborative process?
Options :

1. Lev Vygotsky

2. Ivan Pavlov

3. B. F. Skinner

4. John B. Watson

Question Number : 8 Question Id : 50521228344 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 50521228345 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

One of the chief criticisms of Lawrence Kohlberg's theory is that
Options :

1. his theory undermines the feminine perspective

2. he did not refer to Piaget's theory of moral development

3. he does not propose specific responses of children at each stage

4. he did not conduct any research on children

Question Number : 9 Question Id : 50521228345 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 50521228346 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Howard Gardner suggested that there are distinct kinds of intelligence.

Which of the following intelligence was not proposed by Gardner?
Options :

1. Musical

2. Linguistic

3. Body-Kinesthetic

4. Practical

Question Number : 10 Question Id : 50521228346 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 50521228347 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following illustrates a constructivist learning approach in a progressive classroom?
Options :

1. Multiple interpretations

2. Rote memorization and verbatim recall

3. Rewards and punishment

4. Repeated drill and practice

Question Number : 11 Question Id : 50521228347 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 50521228348 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
In context of multilingualism, which of the following is an appropriate approach?

Options:



1. Students should be penalized for using their mother tongue or local language during school

hours.

2. The schools should admit only those students whose mother tongue is same as the language of

instruction.

3. The teacher should respect and create a classroom environment which supports inclusion of all

students.

4. The teacher should ignore children who use their mother tongue in the class.

Question Number : 12 Question Id : 50521228348 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

. Ml N, e O -,
FEHITSRAT 3 Haw § 7 3 & FH-91 g Suge 2

Options :

. Tt e o 3 2 e AT 21 ST T 90T 7 3 e ey e

. T 1 e T T o T S e oAt ST e 6t o < e £

Toreaes 1 e TTAT ST SR ST TR S AT o T AT ST S = o we e
5. TR A g

. TETereh 00 T 7 3 S o U A S T S AIFHIS A ¢

Question Number : 13 Question Id : 50521228349 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Children who often see their parents cross normative gender lines such as mothers repairing the

appliances and fathers taking care of the baby, are:

Options :

1. less likely to adhere to gender stereotypes.



2. more likely to practice gender segregation.
3. more likely to practice gender stereotypes.

4. less likely to break gender norms prevalent in society.

Question Number : 13 Question Id : 50521228349 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 50521228350 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The purposes of assessment according to National Education Policy (2020) are
(i) to generate stress and induce fear amongst students to ensure learning levels.
(ii) to revise-teaching learning processes.

(iii) to optimize learning and development.



(iv) to support students inside and outside the classroom.
Options:

1. (i) (i) (iv)

2. (i) (iii)

3. (i) (i) (iii)

4. (ii) (iii) (iv)

Question Number : 14 Question Id : 50521228350 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 50521228351 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Dynamic assessment helps to understand

Options:



1. the intelligence Quotient of a child
2. relative rank of the student in comparison to her peers
3. the specific learning needs of a child

4. if child is fit to study in a regular school or not.

Question Number : 15 Question Id : 50521228351 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 50521228352 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

For successful inclusion of students with 'giftedness’, which of the following strategy a teacher

should avoid to use?

Options :

1. Allow opportunities to express diverse perspectives.
2. Provide academic enrichment activities to students.
3. Implement teacher-centred curriculum.

4. Allow students to pursue independent projects based on their interests.



Question Number : 16 Question Id : 50521228352 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 50521228353 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In order to create a system which respects individual differences among leaners, it is important to:
Options:

1. use standardised curriculum for all learners

2. allow variation in learning pace and perspectives

3. keep low expectations of learning from all students

4. pay attention only towards high achievers in exams

Question Number : 17 Question Id : 50521228353 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 50521228354 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A student is unable to pay attention in class, becomes distracted easily, can't sit in the assigned

seat, fidgets and loses things. These characteristics are indicative of
Options :

1. Attention Deficit Hyperactivity disorder

2. Visual impairment

3. Dyslexia

4. Dysgraphia

Question Number : 18 Question Id : 50521228354 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 50521228355 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

For inclusion of students with hearing imapirment, a teacher should
Options :

1. avoid speaking anytime when student can't see her face

2. discourage use of sign language

3. avoid use of assistive technology

4. avoid giving extra time for processing information

Question Number : 19 Question Id : 50521228355 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 50521228356 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Choosing activities that provide scope for insightful and divergent answers promote

Options :

1. rote memorisation
2. creativity

3. frustration

4. competition

Question Number : 20 Question Id : 50521228356 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 50521228357 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Students who score less marks during exams should
Options:

1. be placed in special schools.

2. be guided to pursue only vocational education.

3. be subjected to corporal punishment.

4. be provided with necessary support as per their individual needs.

Question Number : 21 Question Id : 50521228357 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 50521228358 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): To ensure meaningful learning, it is essential to connect new materials with

something the child already knows.

Reason (R): Learning occurs in a linear manner.



Choose the correct option.

Options:

1. Both (A) and (R) are true and R is the correct explanation of (A).

2. Both (A) and (R) are true but R is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 22 Question Id : 50521228358 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 50521228359 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following notions of success in school needs to be challenged?
Options :

1. Students achieve success in school by proving themselves to be better than others.



2. Success need not to be about competition.

3. Schools should give importance to cognitive as well as emotional domains while conceptualising

success.

4. In creating an evaluation sytem in which someone comes 'first’, we also create a system in

which someone is destined to 'last'.

Question Number : 23 Question Id : 50521228359 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 50521228360 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While teaching a concept which of the following, a teacher should avoid?
Options :

1. Use of analogies across and within domains

2. Highlight correlations among different phenomenons

3. Ask students to look for cause-effect relations

4. Exclude non-examplers and exceptions.



Question Number : 24 Question Id : 50521228360 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 50521228361 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following form of learning, a teacher should emphasize upon:
Options:

1. learning through stimulus-response

2. learning through process of structured enquiry

3. learning through rote-memorisation

4. learning to achieve more marks than others

Question Number : 25 Question Id : 50521228361 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 50521228362 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an example of extrinsic motivation?
Options :

1. Avoidance of punishment

2. Interest

3. Rewards

4. Fear of failure

Question Number : 26 Question Id : 50521228362 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 50521228363 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following emotion hinders student's learning?
Options :

1. Eagerness

2. Gratitude

3. Curiosity

4. Hopelessness

Question Number : 27 Question Id : 50521228363 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 50521228364 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

During the classroom discussion on concept of water, a child responded, "water is not colourless".
On enquiring by the teacher, child gave reference of dirty water which he had seen in a drain near

his home. A teacher respond to this misconception of the child by:
Options :

1. completely discarding this answer

2. asserting that his logic is baseless

3. accept the response and explain the logic of calling the water colourless

4. emphasing on only one correct answer i.e. water is colourless

Question Number : 28 Question Id : 50521228364 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 50521228365 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Socio-constructivist approach to learning emphasises on importance of

Options :



1. Rewards and Punishment
2. Standardised Assessment
3. Cultural Context

4. Expository Teaching

Question Number : 29 Question Id : 50521228365 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 50521228366 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Learning is most effective and meaningful when
Options :

1. it occurs in contextualised manner

2. learners are performance-oriented

3. learners are motivated by intrinsic factors

4. information is presented in disconnected chunks



Question Number : 30 Question Id : 50521228366 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 31 Question Id : 50521228367 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the difference between the greatest and smallest three digit numbers that can be formed using the digits 0, 2,
5 and 6 without repetitions?

Options :
1. 446

5 537
3. 447

4. 400

Question Number : 31 Question Id : 50521228367 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 446

5 33T
3. 447

4. 400

Question Number : 32 Question Id : 50521228368 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

=k 4% 2\ 2m—1
If (—) X (—) = (—) , then what is the value of m?
T 49 7

Options:
1. 4

Question Number : 32 Question Id : 50521228368 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

®(2)" x (&) -7 tammmwndm

7 49 7

Options :

Question Number : 33 Question Id : 50521228369 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



: . 3
Which of the following may representﬁ ?

Options :

1. Dividing a rectangular sheet of paper into 22 equal parts and colouring 3 parts among them
2. Dividing 11 mangoes equally between 3 people
3. Dividing a circle into 33 equal parts and colouring 9 among them

4. Drawing 11 circles having radius 1cm, 2cm, 3cm......... 11 cm and colouring 3 among them

Question Number : 33 Question Id : 50521228369 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
~ o 3
ﬁm%ﬁg?rrmﬁmmmmﬁ 1 (ol o= Topar 27

Options :
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Question Number : 34 Question Id : 50521228370 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a prefect square?



Options :
1. 2116

5> 2916
3. 3136

4 3158

Question Number : 34 Question Id : 50521228370 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
= 5 § -9 U5 qU1 7 et A8 o

Options:
1 2116

5 2916

3 3136

4 3158

Question Number : 35 Question Id : 50521228371 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A shopkeeper has 75 gold and 12 silver coins. She wants to stack them so that each stack contains same number of
coins of the same type. The maximum number of coins that each stack can have is

Options :
1.2



3. 15

Question Number : 35 Question Id : 50521228371 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 2

e
[
A

Question Number : 36 Question Id : 50521228372 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The solution of the equation
3 (2 - X)=x+6] =211 =3X%)

is also the solution of the equation:
Options :
1. X+3=5+2x



2. Ox +5=4(x-2)+8
3. SA+7=2x+9

4 3X—1=2x+4

Question Number : 36 Question Id : 50521228372 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T 3(2 — x) — (x + 6) = 2(1 — 3x) 1 &4 T 5 & 3 ST wefteraon & +ff 7o 29

Options :
1. x+3=5+2xx

5 Ox+5=4(x-2)+8

3. i t+T=2x+9

4 Ix—1=2x+4

Question Number : 37 Question Id : 50521228373 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
If a+b=3anda?+b?=89, then

: ; A |
What is the value of — + = ?
i

Options :
3
1. 20



2 40
3
3. 40
1
4. 8

Question Number : 37 Question Id : 50521228373 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
1

~ 1 =,
qRa+b=33Ta +b" =808 q— + = T I 1 E
(
Options:
3
1. 20

Ca
QO |

Question Number : 38 Question Id : 50521228374 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Letp:3x2—6x—4,
g=3+x-2x2
and r= —£i:<+}:2+9, then

(p-q) + ris equal to
Options :

1. 6x2+11x-9

2 3x%-2%+7

3 3x?-9x+8

4. 6x%-11x+2

Question Number : 38 Question Id : 50521228374 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘&'Fq‘p: - bx—4,4=3+x- 20 r=—dr+ X049 %ﬁ(p—q] PR A S —
Options :

1 6+ 11x—9
5 3P 2x+7
3 3x°—9x+8

4 6 —11x+2

Question Number : 39 Question Id : 50521228375 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
If 10x? + x— 3 = (ax + b) (cx + d),

b+d
15

a >c, then
atc

Options:

1. @ positive integer

- a proper fraction

3 an improper fraction

4 @ negative integer

Question Number : 39 Question Id : 50521228375 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
b+d

atc

IR 10 +x—3= (ax+b) (cx+d) B S ETa>c % ar T

Options :

&
1 Uah H-TcHh H'iJII*ﬂ':

U 3a T

2

3 T fawg T

, T O O

Question Number : 40 Question Id : 50521228376 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A number is first increased by 10% and then decreased by 10%. Then the number
Options:

1. Remains the same
2. is increased by 1%
3. is decreased by 1%

4. is increased by 0.1%

Question Number : 40 Question Id : 50521228376 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Tl T 5 U 109% 1 31 2 T & 7 R S 10% 7 e o e 2 5 o o e —
Options :
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2
3. 1% %1 T Enft

4. 0.1% T et BT

Question Number : 41 Question Id : 50521228377 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ABCD is a trapezium in which AD||BC,, AB = 5cm, BC = 11cm and
AD =7 cm. DA is produced to a point F such that AF =3cm and BFLDF. Then , area of the trapezium ABCD is

Options :

1. 34cm?
2. 36cm?
3. 40.5cm?

4. 42.75cm?

Question Number : 41 Question Id : 50521228377 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ABCD T F¥ ¢, 3 AD | BC, AB =5 om, BC = 11 om it AD = 7 cm %) DA %1 T T F 7 38 7o

TG T E 7 AF =3 BB | DF %I 78, Wi ABCD %1 &77er 71 2
Options :
1. 34 cm’
2 36 em’
3. 40.5 cm”
- g
4. 42.75 cm”

Question Number : 42 Question Id : 50521228378 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Deepak used to walk ten rounds along a rectangular ground with length 150cm and breadth 100m. If he has to walk

around a square shaped ground having area 0.0Ikmz, then how many rounds he has to walk so that he can complete
his regular routine of walking?

Options :
1. Approximately 10

2. Exactly 11
3. Exactly 12

4. Approximately 13

Question Number : 42 Question Id : 50521228378 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

3 150 m FET A 100 m TS AT SRR 22 3 10 T 02 Sereh A e 41 7 39 0,01 ko’
% S Tl T, He & T o U%:H}EEW%F%&d; EEEZRCHILS T 9% 0 U o &
g

Options :
1. =TI 10

> 3F 11

3 3@ 12

4, FOTE 13

Question Number : 43 Question Id : 50521228379 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The radius of the base of a metallic cylindrical box is 17.5cm. Its height is one meter. What is the capacity (in litres) of
the box? (Take T 37—2)

Options :
1. 90.5

3. 96.25

Question Number : 43 Question Id : 50521228379 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ST 1 & 5 ST, 0 1 Prea 17.5 o ) T 6661 5T T M1 2, 1 8 T (e ) e (10
=2)/7 wifem)

Options :
1. 90.5

2. 95

3. 96.25

4. 99

Question Number : 44 Question Id : 50521228380 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A box contains some slips on which numbers 25, 26, 27, ........... 49, are written (one number in one slip). Aslip is drawn
at random from the box. What is the probability that the selected slip bears a prime number?

Options :
1. 0.16

5> 0.24
3 0.28

4 0.36

Question Number : 44 Question Id : 50521228380 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T B 3 U T 5 ¢, o TG 25, 26, 27,..., 49 ol 2 (v e e v 4 e ol )1 90
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Options :

1. 0.16

5 0.24

3 0.28

Question Number : 45 Question Id : 50521228381 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The average age (in years) of 40 students of a class is 12. After adding teacher’s age, the average age of all of them
hecomes 13 years. If the retirement age of the teacher is 55 years, then he will retire after

Options :
1. 1 year
2. 2 years

3. 3 years

A 5 years

Question Number : 45 Question Id : 50521228381 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T e 40 T ot 41 o7 (G ) 1221 e o6t o770 0 e @ 5 el - v o 13
ST 21 7 e 1 S 1 47 55 3 2, 7 7 o v v ae e )

Options :

1 139

Question Number : 46 Question Id : 50521228382 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Measures of two supplementary angles are (2a + b)° and (3a—b) °, then, value of 3a is equal to



Options :
1. 54

5> 108

4, 84

Question Number : 46 Question Id : 50521228382 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

=

31 WU IV T HT FHT: (20 + 5)° 3K (3a—b)° B FT3aFITE —

Options:
7. 54

Question Number : 47 Question Id : 50521228383 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of letters in the word MATHS depicts rotational symmetry?
Options :

1. AandS



2. Tand M
3. Mand5

4. Hand s

Question Number : 47 Question Id : 50521228383 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

¥6% MATHS ¥ 3771 5 9 STeRT 1 S9-91 79 50 FaaTe Tarte s 27
Options :

1 AZRS

, T#TM
3 MRS

4 HTS

Question Number : 48 Question Id : 50521228384 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A triangle is to be constructed with sides (2p—1)cm, (2p + 2 Jcm and 13cm.
For constructing the triangle, p must always be

Options :
1. greater then 3

o greater then 2.5



3. greater then 6

4. Breater then 5

Question Number : 48 Question Id : 50521228384 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ﬂEITﬁ{Ep— l)em, (2p+2) cm R 13 em El'l%ﬁ%ﬂﬁﬁm'ﬁﬁlﬁ%l
T PISt o1 T 36 oI, p 361 BRI —

Options :

3 F 3o B =

1

0.5 T AT BT =R

N

5 69 feres =T =E

4 5§ P BT =E

Question Number : 49 Question Id : 50521228385 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The four angels of a quadrilateral are in the ratio of 4:5:3:6. The difference of the greatest and the smallest angles of
the quadrilateral is

Options :
1. 40°

2. 50°



3, 60°

4, 80°

Question Number : 49 Question Id : 50521228385 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ForRTT o 25 =TT 0T 3 70T 4 5 2 3 2 6 2] e & 11 Wl 12 1001 o1 S0 71 2
Options :

1. 40°

> 50°

3 60°

4. 80°

Question Number : 50 Question Id : 50521228386 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
ABCD is a quadrilateral in which ACLBD, AB= AD and CB=CD. Then, ABCD must always be a

Options :
1. Rectangle

2. Kite

3. Parallelogram

4. Rhombus



Question Number : 50 Question Id : 50521228386 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ABCD T =¥ 2, [ AC | BD, AB = AD & (B =CD 7| 7, ABCD %I §¢3 % —
Options:

| ST BT =
, TET & =

, SR S S =

4. R

Question Number : 51 Question Id : 50521228387 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While teaching mathematics, a teacher arrives at a statement : ‘A implies B’
This means

Options :

1. A is a necessary condition for B
o Bis a necessary condition for A

3. Ais the sufficient condition for B

4 A is both necessary and sufficient condition for B



Question Number : 51 Question Id : 50521228387 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 52 Question Id : 50521228388 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mr, Paramjit is teaching Geometry to his students at upper primary level.
Which of the following methods is used most commonly in mathematics classrooms for geometrical proofs.

Options :
1. Deductive method
2. Inductive method

3. Proof by contradiction

4. Proof by counter example



Question Number : 52 Question Id : 50521228388 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 53 Question Id : 50521228389 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Statistics is more than making graphs and analysing data. It includes both asking and answering questions about out
world.
Which of the following options explains the meaning of given statement?

Options :

1. In statistics, number have more significance than graphs for data analysis.
- Graphs should be used only to introduce statistics to students.

Students should formulate questions that can be addressed with data and collect, organize and display relevant data to
3. answer them.

4 Statistics is only about solving problems in real world.



Question Number : 53 Question Id : 50521228389 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 50521228390 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is indicative of ‘Mathematisation of the child’s thought process’?
Options :

1 Procedure and Drill of problems with mathematics implies mathematisation of child’s thought process.
o Mathematics Education should focus on knowing how to mathematize rather than on knowing a lot of mathematics.

3 Studying mathematics upto class XIl would lead to mathematisation of child’s mind.

4. Participating in Olympiads would lead to mathematisation of child’s mind.



Question Number : 54 Question Id : 50521228390 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TreATeATEs T 9 o -8 T il TSI TT5RaT 3T VAT 31 ke ST 27
Options :
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Question Number : 55 Question Id : 50521228391 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT an advantage of ‘Analytical rubrics’?

Options :
1 It gives diagnostic information to teacher
o It gives formative feedback to students

3 It is good tool for summative assessment

4. Itis easier to link to instructions than to holistic rubrics.



Question Number : 55 Question Id : 50521228391 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

| T T31e1ek =T FaTHE SHERT &aT 2

. mmﬁﬁwuﬁgﬁéﬂ%{

5 TE TN HeaToh o o0 21=o1 | 2|

. T e T e T T & T T 2

Question Number : 56 Question Id : 50521228392 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An orphanage has three gates, a person enters the orphanage, with some fruits and gives half of the fruits and one
more to the children at the first gate, similarly he gives half of the remaining fruits and one more to the children at the
second gate and likewise at the third gate. At the end the person is left with only one fruit. How many fruits were in
the hands of that person in starting? For solving this problem, which one of the following methods will be appropriate:

Options :

1. Project-based

2. Inductive - deductive

3. Problem - posing

4. Problem - solving



Question Number : 56 Question Id : 50521228392 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 50521228393 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If the objective of teaching mathematics is related to developing creative thinking among students, which of the
following method/ strategy is appropriate:

Options:
1. Use of formal algorithms.
5 Use of multiple closed-ended problems.

3. Use of lecture method.

4 Use of multiple solution task.



Question Number : 57 Question Id : 50521228393 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e IV T 71 9259 e 5 Te e W7 (e e 2, 1 (eATeA e o i1 e AUt el

Options :

[l =
1. = tEs SheAd T Rl S

, T & O et St &1 3uan

3 ST &t &1 =

;. TRITETER HETEITS STet ST 3T S9a

Question Number : 58 Question Id : 50521228394 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following activities will help teachers to promote problem solving in mathematics among learners?
Options :

1. Conducting interclass quizzes.
2. Solving the problems and reflecting back on solutions.
3. Organizing a mathematical fair.

4 Using mathematical models for teaching.



Question Number : 58 Question Id : 50521228394 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 50521228395 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mathematics Anxiety is commonly seen among students of middle school. Which of the following strategies are
effective in dealing with Mathematics Anxiety in learners?

a) Have a positive attitude while communicating with students

h) To give collaborative tasks and promote group practice problems

¢) Toask the parents of these children to provide them home tuition

d) Such students should be singled out and made to sit on the front of bench in a math classroom

Options :
1. (a) and (d)

5. (a), (b) and (d)

3. only (d)



4. (@) and (b}

Question Number : 59 Question Id : 50521228395 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A TR T o Taraa 3 T 61 foar A % ¥ a2
FreAferfigs = & -9 TORfe ot et 3 e ot fefe & e 2 et 27
() TTEmTTefaT & SA=A e FH2 W SrahTuT Tl

(b) 2% (AT 7 e 1 2T AT g TR 80 3

(c) TR =T 35 STAT- T 361 O T A 3 (o e

(cl) T ST T ST AT ST TV ST T O AT o6 S W S|

e forew T

Options :

(a) IR (d)

1

(a), (c) 3R (d)

2

3 FaA (d)

(a) 3R (b)

4.

Question Number : 60 Question Id : 50521228396 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following tasks is least likely to develop critical thinking in mathematics among students?
Options:

1. Evaluate 72X63 in three different ways and compare the results.



2 Formulate any two situations to represent the equation 7x + 3 = 24.

A student calculated the volume of a right circular cylinder of radius 3.5cm and height 10cm as 38.5cm?. Where did
3. she go wrong?

4. Calculate the volume of a right circular cylinder of radius 3.5cm and height 10cm.

Question Number : 60 Question Id : 50521228396 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 61 Question Id : 50521228397 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statement carefully and choose the correct option

Assertion (A) : Moon always has the same face towards the earth

Reason (R) : The moon completes one rotation in its axis simultaneously as it completes one revolution around the
earth

Options :



1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R is not the correct explanation of A

3. Alistrue but R is false

4. Ais false but R is true

Question Number : 61 Question Id : 50521228397 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 62 Question Id : 50521228398 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is true regarding the water content in the process of conversion of nectars to honey by
honeybees?

Options:



1. Itis increased
2. Itis reduced

3 It remains unchanged

4. ltmay increase or reduce.

Question Number : 62 Question Id : 50521228398 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 50521228399 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
In fish, the body surface is protected from decay by micro-organism due to which of the following>
Options :

1. Scales



> Mucus layer
3. Fins

4. Blubber

Question Number : 63 Question Id : 50521228399 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TR o R 1 TE Bl ST § a1 AT 6 § Toh =i 7 Suredte Te F 22
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Question Number : 64 Question Id : 50521228400 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Consider the following statements and choose the correct option
Assertion ( A) : Lions do not eat grass

Reason (R) : Many animals cannot digest cellulose

What can you say about these?

Options :

1. Both Aand R are true and R is the correct explanation of A



2 Both A and R are true and R is not the correct explanation of A

3. Alistrue but R is false

4. Ais false but R is true

Question Number : 64 Question Id : 50521228400 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 50521228401 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following sources of carbohydrate contains gluten, a component which can cause allergy to some people?
Options :

1. Rice



2. Wheat

3. Raggi

4. lowar

Question Number : 65 Question Id : 50521228401 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 66 Question Id : 50521228402 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

X is a non-flowering and seedless plant that grows on land. Which of the following could be X?
Options:

1. Pine tree

2. Algae

3. Orchids



4. Fern

Question Number : 66 Question Id : 50521228402 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 67 Question Id : 50521228403 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a set of chemical charges?
A. Mixing sugar in milk
B. Setting milk into card
C. Making cottage cheese (paneer) from milk
D. Making buttermilk from card

Options :
1. Aand B

2 BandC

3. CandD



4, AandD

Question Number : 67 Question Id : 50521228403 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 50521228404 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the strongest natural fibre?
Options :
1. Wool

5 Silk



3. Fleece

4. lute

Question Number : 68 Question Id : 50521228404 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 69 Question Id : 50521228405 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is a synthetic indicator?

Options :
1. Turmeric solution

2. Litmus solution

3. Methyl orange solution



4. China rose solution

Question Number : 69 Question Id : 50521228405 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 50521228406 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Aditi wanted to send a secret message to her fried. She gave her friend a letter which did not seems to have anything
written on it. She asked her friend to rub the paper with a slice of beet root and the message appeared in dark red
colour. Which of the following could she have used to write the message?

Options:
1. Common salt

2. Glucose solution

3. Baking soda solution

4. Lemon juice



Question Number : 70 Question Id : 50521228406 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 50521228407 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identical twins are produced by
Options:

1. Asexual reproduction

2. Fertilization of two eggs

3. Fertilization of one eggs by two sperms

4 Fertilization of one eggs by one sperm



Question Number : 71 Question Id : 50521228407 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 50521228408 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Why does a metal door knob feel cooler than a similar plastic knob on a cold day?
Options :

1. Metal is better absorber of heat than plastic

2. Metal is a better conductor of heat than plastic

3. Plastic is a better radiator of heat than metal

4. Plastic is better absorber of heat than metal



Question Number : 72 Question Id : 50521228408 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 73 Question Id : 50521228409 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statement carefully and choose the correct option
Assertion(A) : Ultra sound is inaudible to humans
Reason (R) : The human ear has a range of hearing between 20Hz to 20,000 Hz

Options :
1 Both A and R are true and R is the correct explanation of assertion.
o Both A and R are true and R is not the correct explanation of assertion.

3. Alistrue but R is false

4. Both A and R are false



Question Number : 73 Question Id : 50521228409 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 50521228410 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Why is a lighting conductor installed on a building?

Options :
1 It repels the lighting before it falls on the building.
5 It forces the lighting to fall in an area where there are no buildings.

3 It conducts electric charge on the ground when lightning strikes the building.

g 1t collects the electric power present in the lighting.



Question Number : 74 Question Id : 50521228410 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 50521228411 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Severe burn injuries are likely to be caused by fire accidents while wearing Synthetic fabric rather than natural fabric as
synthetic fibre.

Options :

1. burns into ash

5 burns into liquefied and vaporises

3. burns into flame

4. burns into sticky liquid

Question Number : 75 Question Id : 50521228411 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 50521228412 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a set of mixtures?
Options :

1. Air, Water, Wood

2. Wood, Salt, Sand

3. Salt, Sand, Water

4. Wood, Air, Sand

Question Number : 76 Question Id : 50521228412 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 50521228413 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A cyclist travels 360 meters in 2 minutes.
What is her speed?

Options :
1. 180ms™
2. 60mst

3. 03ms?

4. 30ms?

Question Number : 77 Question Id : 50521228413 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 50521228414 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The focal length of a concave mirror is 20cm. At what distance from the concave mirror could the object placed to
produce a virtual image of the object?

Options :
1. 10cm
2. 20cm

3. 40cm

4. 40cm

Question Number : 78 Question Id : 50521228414 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1 10T H.

5 20" AT,

Question Number : 79 Question Id : 50521228415 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When a bar magnet is brought near it the iron dust sticks
Options :
1. mostly at the middle

2. only at the middle
3. equally everywhere

4 mostly near two ends

Question Number : 79 Question Id : 50521228415 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 50521228416 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A, B, C & D represent four media as follows
A= Ar, B = water, C=lron, D=vacuum

In which of the above media, the spread sound is least and maximum respectively.
Options:

1. Aand D

2 BandC

3. AandC

4. Cand D

Question Number : 80 Question Id : 50521228416 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 50521228417 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher puts a leaf in a test tube and puts sprit (alcohol) in it. Now he heats the test tube ill all the green colour
comes out, Then he takes out the leaf and pour some iodine solution on it.
The students write the following statements in their notebooks.
A) The leaf turns blue black in colour
B) The leaf contains starch
Which of the following statements is correct.

Options :
1. Alis observation, B is inference
5 Alisinference, B is observation

3. Both A and B are observation

4. Both A and B are inference



Question Number : 81 Question Id : 50521228417 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 50521228418 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an appropriate objective for organising a science fair in school?
Options :
1. Getting a good publicity for the school in society .

2 Increasing the student’s interests in science.



3 Helping the school to meet administrative requirement.

4. Developing a feeling of competition among students.

Question Number : 82 Question Id : 50521228418 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 50521228419 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Adapting the science curriculum as per the understanding level of students ensures its
Options :
1. Content validating

2. Historical validating

3. Cognitive validating



4 Environmental validating

Question Number : 83 Question Id : 50521228419 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 50521228420 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A class VIl teacher plans a task for students of classifying 25 plants. Which of the following strategies best support
inquiry teaching?

Options :
1 Teacher explains scientific classification system and demonstrate it.
o Teacher gives rules for classification and asks students to classify the plants

3. Teacher allows each student to classify in their own way and discuss them.

4. Teacher conducts a field trip to show plants.



Question Number : 84 Question Id : 50521228420 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 50521228421 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statement carefully and choose the correct option

Assertion (A) : School science textbooks need to include episodes from history.
Reasoning (R) : Historical development of ideas in science is important for a holistic understanding of science

Options :
1. Both Aand R are true but R is not the correct explanation of explanation of A

2. Both A and R are true but R is the correct explanation of explanation of A

3. Alis correct and R is incorrect



4. Both A and R are incorrect

Question Number : 85 Question Id : 50521228421 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 50521228422 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is / are correct regarding assessment in science?
(a) Same type of tasks should be given to all students for objectivity and parity.
(b) Use of correct scientific vocabulary should be the only criteria of answers
(c) Students’ justification of their response should be part of assessment

Options :
1. only A

2. only B



3. Aand B

4. only C

Question Number : 86 Question Id : 50521228422 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 50521228423 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements describe the nature of science?
a) Scientific knowledge is tentative
b) Scientific explanations are falsifiable
c) Itis a process of describing the world around us
d) Itis a body of ultimate knowledge

Options :

1. @ b, c



2. bcd
3 G d, a

4. d a b

Question Number : 87 Question Id : 50521228423 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 50521228424 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is a micro-level intervention aimed at improving the teaching-learning of science in middle
schsools initiated during the late 19705

Options :
1. Hoshangabad Science Teaching Program [HSTP]

2. Lok Jumbish [LT]
3. District Primary Education Program [DPEP]

4. Atal Tinkering Lab [ATL]

Question Number : 88 Question Id : 50521228424 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 50521228425 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Teaching science through discovery:
Options :

1 focusses on the products of learning

o focusses on the process of learning

3. is a teacher — centred approach

4. is @ memory — based approach

Question Number : 89 Question Id : 50521228425 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 50521228426 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A science teacher of class VIl asks the students to measure the body temperature of 10 peers and record their
observations. Which of the following process skills can be assessed using this activity?

Options :



1. Experimenting
2. Inferring
3. Observing

4. Controlling variables

Question Number : 90 Question Id : 50521228426 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Read the passage given below and answer the questions/comp lete
the statements that follow by choosing the most appropriate
options out of the given ones.

When I visited India again in 1945, the big change I noticed was
the increased interest in politics. You cannot understand the
modern Indians unless you realise that politics occupy them so
passionately and constantly, that artistic problems, and even
social problems- are subsidiary. Their attitude is *’first we must
find the correct political solution and then we can deal with other
matters’’ I think the attitude is unsound, and used to say so; still,
there it is, and they hold it much more vehemently than they did a
quarter of a century ago. When I spoke about the necessity of
form in literature and the importance of the individual vision,
their attention wandered, although they listened politely.
Literature, in their view, should expound or inspire a political
creed.

Externally the place has not changed. It looks much as it did from
the train. Outside the carriage windows (rather dirty windows) it
unrolls as before — monotonous, enigmatic, and at moments
sinister. And in some long motor drives which I look through the
Deccan there were the same combinations of hills, rocks, bushes,
ruins, dusty people and occasional yellow flowers. There is still
poverty, and the malnutrition, which persists like a ground-swell
beneath the pleasant froth of my immediate experience.
Industrialisation has increased though it does not dominate the
landscape yet as it does in the west. No, externally India has not
changed. And this changelessness in her is called by some
observers “’the real India’’. I don’t myself like the phrase “’the
real India’’. I suspect it. It always makes me prick my ears.

Sub questions

Question Number : 91 Question Id : 50521228428 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In his understanding of India, the writer seems to be:

positive
objective
negative
indifferent

Wb -

e

Options :

1.1



2.2
3.3
4.4

Question Number : 92 Question Id : 50521228429 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In his opinion:

one can be proud of Indian literature.
India has effected great social reforms.
Indian economy is drawing great attention.
Indians are preoccupied with politics.

W -

e

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 50521228430 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a) Indians mostly think of politics at the cost of social
reforms.
(b)Indians’ approach to the problems of life has not
much changed during the last twenty five years.
(c) His audience paid attention only when he spoke
about individual vision.

(a) is right, (b) and (c) are wrong.
(b) is right, (c) and (a) are wrong.
(a) and (b) are right and (c) is wrong.
(b) and (c) are right and (a) is wrong.

W

o>

Options :
1.1
2.2



3.3
4.4

Question Number : 94 Question Id : 50521228431 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a) Even in literature Indians want a touch of politics.
(b)He is impressed, though, with the beauty of nature.

1. (a) is right and (b) is wrong.
2. (b) is right and (a) is wrong.
3. both (a) and (b) are right.
both (a) and (b) are wrong.

F>

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 50521228432 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following views is not held by the writer?

India is still a poor country.

India’s landscape is not beautiful.

There is no dynamism in India.
Industrialisation is picking up at a fast pace.

e ol vl

s

Options:
1.1
2.2
3.3
4.4



Question Number : 96 Question Id : 50521228433 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘economic problems are subsidiary” :
The underlined word is a/an

noun
verb
adjective
adverb

i e

-

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 50521228434 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

*... should inspire a political creed’
The underlined word means the same as:

define
encourage
approve
change

i e

-

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 50521228435 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘... it unrolls as before — monotonous ...’
The word opposite in meaning to the underlined word is

changing
similar
attentive
progressive

i e

P

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 50521228436 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

*Though it does not dominate the landscape.” The above
expression isa/an _ clause.

noun

adjective

adverb

coordinate

W -

i

Options :
1.1
2.2
3.3
4.4

Question Id : 50521228427 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Read the passage given below and answer the questions/comp lete
the statements that follow by choosing the most appropriate
options out of the given ones.

When I visited India again in 1945, the big change I noticed was
the increased interest in politics. You cannot understand the
modern Indians unless you realise that politics occupy them so
passionately and constantly, that artistic problems, and even
social problems- are subsidiary. Their attitude is *’first we must
find the correct political solution and then we can deal with other
matters’’ I think the attitude is unsound, and used to say so; still,
there it is, and they hold it much more vehemently than they did a
quarter of a century ago. When I spoke about the necessity of
form in literature and the importance of the individual vision,
their attention wandered, although they listened politely.
Literature, in their view, should expound or inspire a political
creed.

Externally the place has not changed. It looks much as it did from
the train. Outside the carriage windows (rather dirty windows) it
unrolls as before — monotonous, enigmatic, and at moments
sinister. And in some long motor drives which I look through the
Deccan there were the same combinations of hills, rocks, bushes,
ruins, dusty people and occasional yellow flowers. There is still
poverty, and the malnutrition, which persists like a ground-swell
beneath the pleasant froth of my immediate experience.
Industrialisation has increased though it does not dominate the
landscape yet as it does in the west. No, externally India has not
changed. And this changelessness in her is called by some
observers “’the real India’’. I don’t myself like the phrase “’the
real India’’. I suspect it. It always makes me prick my ears.

Sub questions

Question Number : 91 Question Id : 50521228428 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In his understanding of India, the writer seems to be:

positive
objective
negative
indifferent

Wb -

e

Options :

1.1



2.2
3.3
4.4

Question Number : 92 Question Id : 50521228429 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In his opinion:

one can be proud of Indian literature.
India has effected great social reforms.
Indian economy is drawing great attention.
Indians are preoccupied with politics.

W -

e

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 50521228430 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a) Indians mostly think of politics at the cost of social
reforms.
(b)Indians’ approach to the problems of life has not
much changed during the last twenty five years.
(c) His audience paid attention only when he spoke
about individual vision.

(a) is right, (b) and (c) are wrong.
(b) is right, (c) and (a) are wrong.
(a) and (b) are right and (c) is wrong.
(b) and (c) are right and (a) is wrong.

W

o>

Options :
1.1
2.2



3.3
4.4

Question Number : 94 Question Id : 50521228431 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a) Even in literature Indians want a touch of politics.
(b)He is impressed, though, with the beauty of nature.

1. (a) is right and (b) is wrong.
2. (b) is right and (a) is wrong.
3. both (a) and (b) are right.
both (a) and (b) are wrong.

F>

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 50521228432 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following views is not held by the writer?

India is still a poor country.

India’s landscape is not beautiful.

There is no dynamism in India.
Industrialisation is picking up at a fast pace.

e ol vl

s

Options:
1.1
2.2
3.3
4.4



Question Number : 96 Question Id : 50521228433 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘economic problems are subsidiary” :
The underlined word is a/an

noun
verb
adjective
adverb

i e

-

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 50521228434 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

*... should inspire a political creed’
The underlined word means the same as:

define
encourage
approve
change

i e

-

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 50521228435 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘... it unrolls as before — monotonous ...’
The word opposite in meaning to the underlined word is

changing
similar
attentive
progressive

i e

P

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 50521228436 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

*Though it does not dominate the landscape.” The above
expression isa/an _ clause.

noun

adjective

adverb

coordinate

W -

i

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 5052121634

Question Shuffling Allowed : Yes

Question Id : 50521228437 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No

Question Numbers : (100 to 105)



Question Label : Comprehension

Read the poem given below and answer the questions /
Complete the statements that follow with the help of the given options.

The sea of faith

Was once, too, at the full, and round earth’s shore
Lay like the folds of a bright girdle furl’d.

But now I only hear

Its melancholy, long, withdrawing roar,
Retreating, to the breath

Of the night-wind, down the vast edges drear
And naked shingles of the world.

Ah, love, let us be true

To one another! for the world which seems

To lie before us like a land of dreams,

So various, so beautiful, so new,

Hath really neither joy, nor love, nor light,

Nor certitude, nor peace, nor help for pain;

And we are here as on a darkling plain

Swept with confused alarms of struggle and flight,
Where ignorant armies clash by night.

Sub questions

Question Number : 100 Question Id : 50521228438 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What does the expression. “’But now I only hear its
melancholy .....”" mean?

It is the time of dusk.

The sound of roaring waves is receding.

A feeling of sadness has overwhelmed the speaker.
He does not like the breaking up of the waves against
the shore.

e oo

il

Options :
1.1
2.2
3.3
4.4



Question Number : 101 Question Id : 50521228439 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Lay like the folds of a bright girdle furled’
The figure of speech used in the above line is

metaphor
hyperbole
simile
symbolization

e oo

i

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 50521228440 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The poet wishes to indicate by using the phrase, “naked
shingles’ that:

the waves have hit the rocks.

no one is sitting on the rocks.

the rocks at the shore are pointed and sharp.
the rocks make uncomfortable seats.

] e

P

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 50521228441 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The lines “Ah love....... a land of dreams’ show that :

the speaker wants a positive response to his love
he is truly in love with his beloved.

he feels that his beloved is in two minds.

he does not want to meet her only in dreams.

bl e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 50521228442 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements.
(a) The poet is living in a seemingly beautiful world.
(b) Actually it is torn by conflicts and disbeliefs.

1. (a)is true and (b) is false.
2. (b) is true and (a) is false.
3. Both(a) and (b) are true.
4. Both (a) and (b) are false

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 50521228443 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



“The sea of faith was once, too, at the full.” Which figure of
speech is used here?

Metaphor
Simile
Symbolism
Personification

W -

P

Options :
1.1
2.2
3.3
4.4

Question Id : 50521228437 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Read the poem given below and answer the questions /
Complete the statements that follow with the help of the given options.

The sea of faith

Was once, too, at the full, and round earth’s shore
Lay like the folds of a bright girdle furl’d.

But now I only hear

Its melancholy, long, withdrawing roar,
Retreating, to the breath

Of the night-wind, down the vast edges drear
And naked shingles of the world.

Ah, love, let us be true

To one another! for the world which seems

To lie before us like a land of dreams,

So various, so beautiful, so new,

Hath really neither joy. nor love, nor light,

Nor certitude, nor peace, nor help for pain;

And we are here as on a darkling plain

Swept with confused alarms of struggle and flight,
Where ignorant armies clash by night.

Sub questions



Question Number : 100 Question Id : 50521228438 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What does the expression. “’But now I only hear its
melancholy .....”" mean?

It is the time of dusk.

The sound of roaring waves is receding.

A feeling of sadness has overwhelmed the speaker.
He does not like the breaking up of the waves against
the shore.

e oo

il

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 50521228439 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Lay like the folds of a bright girdle furled’
The figure of speech used in the above line is

metaphor
hyperbole
simile
symbolization

o bt

el

Options:
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 50521228440 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The poet wishes to indicate by using the phrase, ‘naked
shingles’ that:

the waves have hit the rocks.

no one is sitting on the rocks.

the rocks at the shore are pointed and sharp.
the rocks make uncomfortable seats.

W -

P

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 50521228441 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The lines “Ah love....... a land of dreams’ show that :

the speaker wants a positive response to his love
he is truly in love with his beloved.

he feels that his beloved is in two minds.

he does not want to meet her only in dreams.

e tel e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 50521228442 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Study the following statements.
(a) The poet is living in a seemingly beautiful world.
(b) Actually it is torn by conflicts and disbeliefs.

1. (a) is true and (b) is false.
2. (b) is true and (a) is false.
3. Both(a) and (b) are true.
4. Both (a) and (b) are false

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 50521228443 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“The sea of faith was once, too, at the full.” Which figure of
speech is used here?

Metaphor
Simile
Symbolism
Personification

] e

P

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 5052121635

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 50521228444 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



L earners acquire a language by

1. analysing the structure of language

2. studying the literature of the language

3. learning about the culture of the speakers of the language
using the language in a natural interactive environments.

e

Options :
1.1
2.2
3.3

4.4

Question Number : 106 Question Id : 50521228444 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Learners acquire a language by

analysing the structure of language

studying the literature of the language

learning about the culture of the speakers of the language
using the language in a natural interactive environments.

P g

e

Options :
1.1
2.2
3.3

4.4

Question Number : 107 Question Id : 50521228445 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following language skills are related to expression?

Reading, listing

Listening, writing

Speaking, Writing

Reading, Speaking and writing

s vl

e



Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 50521228445 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following language skills are related to expression?

Reading, listing

Listening, writing

Speaking, Writing

Reading, Speaking and writing

s vl

e

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 50521228446 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify the disability a child might be suffering from
If she/he is unable to

(a) comprehend text gestures.

(b)to make contractions.

(¢) read at expected rate of speed.

(d)analyse the surface and deep meaning.

1, Dysgraphia
2. Dyspraxia
3. Dyscalculia
. Dyslexia

B

Options:



1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 50521228446 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify the disability a child might be suffering from
If she/he is unable to

(a) comprehend text gestures.

(b)to make contractions.

(c) read at expected rate of speed.

(d)analyse the surface and deep meaning.

1, Dysgraphia
2. Dyspraxia
3. Dyscalculia
. Dyslexia

B

Options:
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 50521228447 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Assertion (A): Functional model of language is linked with the concept of communicative competence.
Reason (R): Language is a vehicle for the expression of functional meaning and for performing real-world activities.

1. both A and R are true and R is the correct explanation of A

2. both A and R are true but R is not the correct explanation of A
3. Alstrue butr is false.

4. Alsfalse but R is true.

Options :

1.1



2.2
3.3
4.4

Question Number : 109 Question Id : 50521228447 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Assertion (A): Functional model of language is linked with the concept of communicative competence.
Reason (R): Language is a vehicle for the expression of functional meaning and for performing real-world activities.

1. both Aand R are true and R is the correct explanation of A

2. both A and R are true but R is not the correct explanation of A
3. Alstrue butr is false.

4. Alsfalse but R is true.

Options:
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 50521228448 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a subject- oriented writing style which seeks to explain and illuminate an issue, subject and
idea?

1. Expository writing
2. Descriptive Writing
3. Narrative wrifing

4. Argumentive writing

Options :
1.1
2.2
3.3
4.4



Question Number : 110 Question Id : 50521228448 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a subject- oriented writing style which seeks to explain and illuminate an issue, subject and
idea?

. Expository writing
2. Descriptive Writing
3. Narrative writing

4. Argumentive writing

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 50521228449 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of these is cited as an example of humanistic approach within the language teaching tradition?

L. Total physical response

2. Silent way

3. Natural approach

4. Community language learning

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 50521228449 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which one of these is cited as an example of humanistic approach within the language teaching tradition?

L. Total physical response

2. Silent way

3. Natural approach

4. Community language learning

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 50521228450 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A is a purposeful collection of student’s work that exhibits the student’s efforts, progress and achievement in
one and more areas.

. anecdotal record
2. partfolio
3. rubrics
4. project

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 50521228450 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A is a purposeful collection of student’s work that exhibits the student’s efforts, progress and achievement in
one and more areas.

. anecdotal record
2. portfolio

3. mbrics

4. project

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 50521228451 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While designing the activities for language classroom, a teacher should consider to
A. design activities which involve meaningful interaction
B. design activities which resemble real world tasks.

L. Ais right

2. B is right.

3. Both A and B are right.
4. Both A and B are wrong.

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 50521228451 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



While designing the activities for language classroom, a teacher should consider to
A. design activities which involve meaningful interaction
B. design activities which resemble real world tasks.

l. Ais right

2. B is right.

3. Both Aand B are right.
4. Both A and B are wrong.

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 50521228452 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Education Policy (NEP)2020 recommends the study of

mother tongue. modern Indian languages, classical languages, foreign languages

mother tongue or home language, modern Indian languages, Sanskrit, classical languages, Foreign languages
mother tongue or home languages modern Indian languages, Sanskrit foreign languages

mother tongue, English, modern Indian languages, classical languages

el

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 50521228452 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



National Education Policy (NEP)2020 recommends the study of

mother tongue. modern Indian languages, classical languages, foreign languages

mother tongue or home language, modern Indian languages, Sanskrit, classical languages, Foreign languages
mother tongue or home languages modern Indian languages, Sanskrit foreign languages

mother tongue, English, modern Indian languages, classical languages

el

Options :
1.1
2.2
3.3

4.4

Question Number : 115 Question Id : 50521228453 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher conducts an activity in the class. Students are asked to form a circle. She starts the story with

‘once there was a brave git] in a small team of Rajasthan. Her name was Riya’. Then each student in the circle is asked
fo add a sentence to complete the story in a meaningful way.

The process takes few more minutes ill story reaches its end.

This activity is an example of

L. content assisted language learning

2. cognitive academic language proficiency
3. basic interpersonal communication system
4. content integrated language learning

Options :
1.1
2.2
3.3

4.4

Question Number : 115 Question Id : 50521228453 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Ateacher conducts an activity in the class. Students are asked to form a circle. She starts the story with

‘once there was a brave girl in a small team of Rajasthan. Her name was Riya’. Then each student in the circle is asked
to add a sentence to complete the story in a meaningful way.

The process takes few more minutes till story reaches its end.

This activity is an example of

. content assisted language learning

2. cognitive academic language proficiency
3. basic interpersonal communication system
4. content integrated language learning

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 50521228454 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Total physical response (TPR) as a method could be effective for

kinaesthetic learners
auditory learners
reading learners
visual learners

T e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 50521228454 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Total physical response (TPR) as a method could be effective for

kinaesthetic learners
auditory learners
reading learners
visual learners

e tel e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 50521228455 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following language is not included in the VIII Schedule of the Constitution?

I. Nepali

2. Konkani
3. Hindi

4. Rajasthani
Options :

1.1

2.2

3.3

4.4

Question Number : 117 Question Id : 50521228455 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following language is not included in the VIII Schedule of the Constitution?

l. Nepali

2. Konkani
3. Hindi

4. Rajasthani



Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 50521228456 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If a person is identifying phonemes, syllables, works, phrases and sentences and then making use of information and
context to decode the spoken, written discourse, is an example of

L. top down processing
2. bottom up processing
3. inferential decoding
4. Integrated decoding

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 50521228456 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If a person is identifying phonemes, syllables, works, phrases and sentences and then making use of information and
context to decods the spoken, written discourse, is an example of

. top down processing
2. bottom up processing
3. inferential decoding
4. Integrated decoding

Options :
1.1
2.2



3.3
4.4

Question Number : 119 Question Id : 50521228457 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A child moves from India to U.S.A and is taught all her subjects in the language of country she has migrated to
What is this processes of teaching is known as?

[. Immersion

2. Bilingualism

3. Multilingualism
4. Monolingualism

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 50521228457 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A child moves from India to U.S.A and is taught all her subjects in the language of country she has migrated to
What is this processes of teaching is known as?

[. Immersion

2. Bilingualism

3. Multilingualism
4. Monolingualism

Options :
1.1
2.2
3.3
4.4



Question Number : 120 Question Id : 50521228458 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Content subjects like science, maths, social science have specific use of language to convey ideas. Concepts and
Meanings.

A language teacher in collaboration with subject teachers attempts to use this aspect of language to teaching language.
What is this known as?

1. Register based language teaching
2. Language through content

3. Content through language

4. Content across language.

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 50521228458 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Content subjects like science, maths, social science have specific use of language to convey ideas. Concepts and
meanings.

A language teacher in collaboration with subject teachers attempts to use this aspect of language to teaching language.
What is this known as?

1. Register based language teaching
2. Language through content

3. Content through language

4. Content across language.

Options :
1.1
2.2
3.3
4.4
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Sub-Section Id : 5052121636
Question Shuffling Allowed : Yes

Question Id : 50521228459 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension



T - FreforTaa Terer it SATIGE UTeT T IR 7O WA} T I
o]
U BTOTAT ST 3 TR, e U5 AR g1 7 H SR Al
AT FE 7 W2, TET AT WRATS! FT FE AR T2 | e
TR 3710 T T SHeT (W 399) B9 39 509 T el
T & TR MR GRS ST Aeeret sht AT et awil o F A
TR T 15T 25 T 1 2T F 1 W26 7 50 T9
3T % 1T o JET ST Tieetrel sl STed oaTs o1 STehT
WIS & ST GBI 1 23807 o 7T 2§69 Fad SamaT
feraTsrTe vee] e Wi ot & fF oeTE wE ae % g enfien
|reTToe YR ot oft et e &1 3w T glaen-wue S
TSR & SN © ST 181 2, Sk o7 I8 9E Ha-F1a! F ot
TR AT 2| SR G ST 3hT A oIaTs o g SIET AT 75K
TR 7T 2, T2 T T T ST S = W 2

T ST TRree Tt o7t et afgeet F St met 2
STEAI o TATIeR, Ua T 1T i TR SIS ol sre=1 3h
FET TaTS ST 9 S S ST & e o T TR
TEaT % Te § fet oft ot 3 foro feufy e i &1 efr et
TEET i ST TS F U G g 2

Sub questions

Question Number : 121 Question Id : 50521228460 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FETE FH B & UID E| gEHE T T
wferenr 2

| TS, FEhTae

2. AT, WIS

3. WERTAe, AATMYF

4. oTTede, W

Options :

1.1



2.2
3.3
4.4

Question Number : 122 Question Id : 50521228461 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

-

U I F FTER FE A G W SART FAIFIEAT_ H
=T T 2

. ATTeaTeT
4. wATTeaTHT TFET

Options:

I3

1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 50521228462 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

3.
4.
Options :
1.1
2.2
3.3



4.4

Question Number : 124 Question Id : 50521228463 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
mﬁ:%mgmt T &1 = e J TEe 21 @ 22
. TS wmesg T 2|
. S EE e
3. S i O
4. S HEL A

Options :

[

1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 50521228464 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TS T TR G H1eT T ﬁ%ﬂﬁ%@?ﬁ%ﬂ
1. &+t 3T o RS % WY

7= HTeT ST a==1 o |1

3. s gt

4. STFEA S 6 TE6T 6 1Y

Options :

[

1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 50521228465 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TS 3 S AR e S TRET F I F H gF & —
df"‘ | N ¥ . =

: Hgﬂéﬂd'ﬂdxﬁlldaﬁcﬂlm

. 7T wY © fUse =

3. TSI &5 § 121 aTeT 9EaT

4. =TI =Y ﬁ*—rmm:g TTF

Options:

—

-3

1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 50521228466 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Cac ke m«:wﬁgﬁﬁm%‘?

™.

1. HTEISER
ATrIF

3. UTETER
4. gy

- Y

[

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 50521228467 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



AT TR —
. O EEIL L
2. WIEIT=F 93
[
3. HERHSk T3]

4. SATHET=E G

Options:

1.1
2.2
3.3
4.4

Question Id : 50521228459 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension



T - FreforTaa Terer it SATIGE UTeT T IR 7O WA} T I
o]
U BTOTAT ST 3 TR, e U5 AR g1 7 H SR Al
AT FE 7 W2, TET AT WRATS! FT FE AR T2 | e
TR 3710 T T SHeT (W 399) B9 39 509 T el
T & TR MR GRS ST Aeeret sht AT et awil o F A
TR T 15T 25 T 1 2T F 1 W26 7 50 T9
3T % 1T o JET ST Tieetrel sl STed oaTs o1 STehT
WIS & ST GBI 1 23807 o 7T 2§69 Fad SamaT
feraTsrTe vee] e Wi ot & fF oeTE wE ae % g enfien
|reTToe YR ot oft et e &1 3w T glaen-wue S
TSR & SN © ST 181 2, Sk o7 I8 9E Ha-F1a! F ot
TR AT 2| SR G ST 3hT A oIaTs o g SIET AT 75K
TR 7T 2, T2 T T T ST S = W 2

T ST TRree Tt o7t et afgeet F St met 2
STEAI o TATIeR, Ua T 1T i TR SIS ol sre=1 3h
FET TaTS ST 9 S S ST & e o T TR
TEaT % Te § fet oft ot 3 foro feufy e i &1 efr et
TEET i ST TS F U G g 2

Sub questions

Question Number : 121 Question Id : 50521228460 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FETE FH B & UID E| gEHE T T
wferenr 2

| TS, FEhTae

2. AT, WIS

3. WERTAe, AATMYF

4. oTTede, W

Options :

1.1



2.2
3.3
4.4

Question Number : 122 Question Id : 50521228461 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

-

U I F FTER FE A G W SART FAIFIEAT_ H
=T T 2

. ATTeaTeT
4. wATTeaTHT TFET

Options:

I3

1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 50521228462 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

3.
4.
Options :
1.1
2.2
3.3



4.4

Question Number : 124 Question Id : 50521228463 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
mﬁ:%mgmt T &1 = e J TEe 21 @ 22
. TS wmesg T 2|
. S EE e
3. S i O
4. S HEL A

Options :

[

1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 50521228464 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TS T TR G H1eT T ﬁ%ﬂﬁ%@?ﬁ%ﬂ
1. &+t 3T o RS % WY

7= HTeT ST a==1 o |1

3. s gt

4. STFEA S 6 TE6T 6 1Y

Options :

[

1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 50521228465 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TS 3 S AR e S TRET F I F H gF & —
df"‘ | N ¥ . =

: Hgﬂéﬂd'ﬂdxﬁlldaﬁcﬂlm

. 7T wY © fUse =

3. TSI &5 § 121 aTeT 9EaT

4. =TI =Y ﬁ*—rmm:g TTF

Options:

—

-3

1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 50521228466 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Cac ke m«:wﬁgﬁﬁm%‘?

™.

1. HTEISER
ATrIF

3. UTETER
4. gy

- Y

[

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 50521228467 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TS T E
1. T[T faR e
2. WIS w3
3. HEHHF T

4. SATHATEF O

Options:

1.1
2.2
3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 5052121637

Question Shuffling Allowed : Yes

Question Id : 50521228468 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No

Question Numbers : (129 to 135)

Question Label : Comprehension

e — =ATeTRaT TaisT 1 SATUE UG a2l Ue 70 4T 3 I
e

ST 3 U AR § AT 81 9E 31 g1 AT © (e 3 a8
IR 27 3R fareft-eet gt we HF ST =07 =170 T WA 2,
T AU 9 ST T F TAN 3 o0 Arsha=1a sqawal aret o9 5
AT T T THR | T qAT HEEH ST T80 SATETF G Fl
2| WIS, TSTae AT T Teeell § STes Sial 8 =919
T © 297 7T W4T 3 U9 O UH SIRal sl 91 Tkl 2 o1 aad
T ffed =t 9 S0 33 SI99ET & FE1 § & W@ 9T ??l' 21l

R ATeAE T TTEHT | TR AT 371 T2 (ed & 81 gar== q=A
T BT ST 99 UHT 9 Tl TRl oh! ST ﬁtmﬁujm#
%ﬂﬂﬁﬁl%ﬁWﬁ?W%Mﬁgﬂﬂﬁﬂmm AR

Sub questions




Question Number : 129 Question Id : 50521228469 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ST SRl 37T el 2T JTET —
I, SFE

[-J

. S Edeh
- b o) -,
; U‘G;'%?aa-r T == A 1]
e

(]

4. Teameff
Options:
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 50521228470 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T ST ST A F A AT 87
l. STE49Th <141
2. SIFTER STl
4. TS ST

Options :

1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 50521228471 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Torerer T | T o 1 Taret 7= uT T =
ST et 22

I =
3. g9

-

4. HrcdTeq
Options :

I-J

1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 50521228472 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AT TTEF Fe I ST 27
|. & ST A1 % T F FHAT § 91T B
TR
. IE ST SR a7 QT =
3. S ﬁﬂdlmm@.qﬂﬂ"‘mmﬂﬂ?é
4. ST AT 29 T2 T FE TINT

[

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 50521228473 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 50521228474 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ST EET ] 98T 9 T2 M1 =en?
|. SEETH 9
1T =Rl {1
. EfeTET T 9T
4. TS H 9T

-3

sl

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 50521228475 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TS 3163 H -9 T 2
I
2.
%
4.
Options :

R

1.1
2.2
3.3
4.4

Question Id : 50521228468 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension

feeT — FATeTiae e Wt SATTIEF Ty, F2T U 0 4T T I
i)

ST % U9 S 5 T4 81 98 ST 71 FLa © [ 311 98
T & AT TRl T ST 0% ST TR (10T =TT, 2 e 2,
U’(W%ﬁﬂﬁﬁm%m% {0 SR =19 ST 9T 29 |
4T T FAHT umuﬁﬂummmﬂﬂm%%ﬁmﬁﬁmgﬂm
2| ETHTTSTeR, TSR @T%Hﬁ%ﬁ#f@rmmmm SAT B T *
TS o 297 37 T7aT o TS O UW S3a1 &1 951 9ahd] 2 91 9ad
T FHfEg Tt @ S0 339 S99aT 3 A1 ° &0 W@ 9T 2,
AR ATeTET T W1 F TR ST 31 T & 8 Jar=s e
ST B ST 370 VAT HE o 0] Aok AR e H W s E
T =1 = ST ﬁ?%ﬁﬁ%mﬁﬂﬂﬁWﬂldm AR
AT REaTE S T8 9T F4d 2

Sub questions

Question Number : 129 Question Id : 50521228469 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
AT SRl ST & 2T ST —
|. SHETH
3. Tt
4. Taeandft

Options :

1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 50521228470 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

=
L

=FTa T ST TINT i T AT 27
|. 3TTHH F94T1
2. SNTEeh a0
4. ULETH ST

Options:

1.1

2.2

3.3

4.4

Question Number : 131 Question Id : 50521228471 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Torerer T | T o 1 Taret 7= uT T =
ST et 22

I =
3. g9

-

4. HrcdTeq
Options :

I-J

1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 50521228472 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AT TTEF Fe I ST 27
|. & ST A1 % T F FHAT § 91T B
TR
. IE ST SR a7 QT =
3. S ﬁﬂdlmm@.qﬂﬂ"‘mmﬂﬂ?é
4. ST AT 29 T2 T FE TINT

[

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 50521228473 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 50521228474 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ST EET ] 98T 9 T2 M1 =en?
|. SEETH 9
1T =Rl {1
. EfeTET T 9T
4. TS H 9T

-3

sl

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 50521228475 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



IS 9168 | HIE-T1 TeT 29
-
2.
%
4.
Options :

R

1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 5052121638

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 50521228476 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TS 376707 T T 2T BT TR
|. Taenfsan = eTeEias ST HIve § 999 S5
. Teremfeda =t wedt frufemt = srdqel & & wfafmer & 3 Fam s

3. Tt =1 9T F 99T &1 O 94T a9
4. Taentefat = aieEreT § 95T TS e § TEE S

Options :

]

1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 50521228476 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TS TETeTT 3FT T T2 T e
|, Tt =t STeRTeiHeR JTareIy e § HEH S
. Tt w1 @t Feaaat 5 2790901 21 | WiahaT #0 § 949 ST
3. TaEtd=T =1 SaTeT 3 SaTE 2 ¥ 99T S5
4. Tenfedat 1 wiemeTi & SEat Teue e 3 9EH S|

Options :

-2

1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 50521228477 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

F41 1 TR 7 ST ﬁaﬁwgmwﬁlw % 1 T -
PV, (T R ) T 7 0% e 2 (2X) (e 8 et ot o s o ) e T R 1 (2X)
T e e | (e e o o e 8 7))
SFEATR: §| 78 T e € (3X) T (3X)
Tt o E E (3X) 7 (3X)
. feraver e e (e v v
), T T T T (o e T v
3, T2 o e 211 (9 mqmnﬁaw%rm)
4, & S T ST (T T e e e

Options :

1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 50521228477 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

TP T T AT . ST T, WIS T 36 e 0 T .
SRV (7 TR ) T 7% T e (2X) (e e et o 4 e s ) e o 21 (2X)
w o Fem v (@ e o e e e )
FT, G T EFA  (3X) 7R (3X)
Tt o FE (3X) T (3X)
. T et i (e T )
), T S S 21T (ST ST T e
3, T2 O o 211 (I mqmnﬁaw%rm]
4, & S T 1T (T T e e )

Options :

1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 50521228478 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TET T TR T F SATIR T HE 1S T T IS0 —

T 3T T
() FRF TR T RF | (i) TR/ TTH
ERIaT!
(i) T FA F IO TATF- | (i) T W
o T ==t
(i) TIMUAMIETE -T2 | (iil) FoFe=/ a9
T U7 ST 2!
(ivV)FIHAAAE -FIAES A | (iv) e/

1 1-11, 1i-1, 11-1v, 1V-1ii,
2. I-1, =111, 111-11, V-1V
1. 1-1id, 1i-1v, -1, 1v-ii
4. 1-1v, 1i-11, 11i-1ii, 1v-1

Options :

1.1

2.2

3.3

4.4

Question Number : 138 Question Id : 50521228478 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TET T TR T F SATIR T HE 1S T T IS0 —

=T 37 Tt
() FRF TR T RF | (i) TR/ TTH
e
(i) S FE TF IO T T | (i) AR AT
(i) TEIMUA IR -T2 | (iil) FoFe=/ a9
T g1 AT 2
(ivV)FIHAAAE -FIAES A | (iv) e/

1 1-11, 1i-1, 11-1v, 1V-1ii,
2. I-1, =111, 111-11, V-1V
1. 1-1id, 1i-1v, -1, 1v-ii
4. 1-1v, 1i-11, 11i-1ii, 1v-1

Options :

1.1

2.2

3.3

4.4

Question Number : 139 Question Id : 50521228479 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

et v farameff 1 et e s R R e s w fm e @ 8
B : 7 &% T AT FH U 2
A : 1! T TG AT 1 5 9 T e 27
B : % fH=aT % S 5 2| #70 §i S0 o7 FeH UEe 379 a7 a0 T ‘J‘(ﬂgmn?l
TET T T e (e 27
|. W wa

]

S



Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 50521228479 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

et ver faemdff =1 ot et R R A Fem s w R e i
B : T2 §% AT 31e4T & UE 2
A : 1! T TG AT 1 5 9 T e 27
B EE%W%W?% wmmﬁaﬂ{ﬂwwaﬁrm%aﬁw RIS G'Hl;j
TET T T e (e 27
|. W wa
2. HYSOTH TeH
Options :

1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 50521228480 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T2 . 1 W05 = 91531 i1 39 T ¥ SFareed for T 2-

anledl, Hiel, AldAl \?ﬂﬁtﬂfb’ﬂ

R R AT

FATeTge o & 9 § 98 1 AT HTH1 3 V62T 1 a1y i 3 [of0 13T T 8-
. 7 T

3. TR ST FR e

4, HTCH TR

Options :

[

1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 50521228480 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ST T T UTE -0 3 TTeaT il 36 T | ST ot 7 2-

AT, AT, ST 37 T

R R AT
ﬁHfQﬂﬁgﬂﬁ%‘qﬁd@rﬂﬂﬁme%wﬁﬁwﬂMmG%ﬁﬁt.{fﬁmmw%-
. 79 T W

3. ST ST G

4, T TR

Options :

b2

1.1
2.2
3.3
4.4



Question Number : 141 Question Id : 50521228481 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T TG AT UG T 1 SR 3 T 3 e e G ) S . 7 T ey W T € 7
T3 U3 1 317 61 Heet 0T )
| §29-370 Ae
), TTH T
4, T T AT
Options :
1.1
2.2
3.3

4.4

Question Number : 141 Question Id : 50521228481 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e G A T ST 71 ST e AT 3 T 6 et 2] A Ot e lrTe S i 2 7
Vo T 71 4 1 A7t T 2
|, FeH-¥1 e
). I A
4, Y T Aree
Options:
1.1
2.2
3.3

4.4

Question Number : 142 Question Id : 50521228482 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

AT e 3 SR STl e o fufy 22
1. e T |
2. TSI HTHT
4. FTHTEHF AT

Options :

1.1

2.2

3.3

4.4

Question Number : 142 Question Id : 50521228482 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AT HIIT 3 STTAR ST e i =/ feaf 22
1. HOE T T
2. ST HTST
3. HEGTI-SEEeF o7

4. STHTETHF WTET

Options :

1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 50521228483 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



i i & .3 frweraeg 35 sit o1 o T B2
1. H39Tes

. ATt TT8% (3UUT)
3, IS TeE
4, TR TTeq

Options :

I3

1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 50521228483 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

fefafag g g s Qﬁﬁﬂﬁg%aﬁﬁd AT T 758 27
1. ®3T 368

. 3TEehe ITe% (3UUT)
3. IS Te8
4. T s

Options :

[

1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 50521228484 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FIT ST 9T §IES o — F19 § 77 7o 27

1. T4 T T8 9T S TS 9T F e e 2
2. T 1 T2 HT S TR FT e e B
3. ZTE % T ST S H11- AT 1 37 = % e % B0 5 i e g
4. TS T TE T S TSR P HAT H FAT 2
Options :
1.1
2.2
3.3

4.4

Question Number : 144 Question Id : 50521228484 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T ST 9oT §1E § — 79 o 47 91009 2
1. ST 31 T2 WIS FETaqriedar s WTeT 3 STae 24T 2
2. T T TE W S T F o S
3. A 1 o7 ST S AT- T A S ar=el o (e % 9 H o STl 2|
4. T T AT S TR I AT H FAT 2
Options :
1.1
2.2
3.3

4.4

Question Number : 145 Question Id : 50521228485 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0



TS et A 2020 F ST, FATea 3 § I G 61 9.9 Ve, 9 61 0 9 3 € 1 el
AR T T AT TSTaR 1 ST 1 T 3 A
|, T YT 48 WA
. T TR A
3. T T oA
4, Tefoet ¥fean e

Options:

| ]

1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 50521228489 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T v T 2020 % SR, FeAer e = § S WA 1 09 T, 36 AT 0 < € 1o e
AR T T AT TSToA 1 ST 1 T 3 A
|, T T 9% 9
. T TR A
3. 79 e oA
4, oo 3fem et

Options :

-]

1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 50521228490 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



R erTar 3 -1 TS 3 T T 3 T T S o G 5 o e o 2
|, Sl 21 ST ST & ST e
), & TG & 3 T A SR 0 41 36 T 6 (O e 1
3. TR 1 1 1 T Gt e
4, F=1 1 T 2 Eﬁmwuﬁw

Options :
1.1
2.2
3.3

4.4

Question Number : 150 Question Id : 50521228490 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
R erTar 3 -1 TS 3 T T 3 T T S o G 5 o e o 2
|, =71 1 - AT & et |
), & TG & 3 T A SR 0 41 36 T 6 (O e 1
3. TR 1 1 1 T Gt e
4, T e O Eﬁmwuﬁw

Options :
1.1
2.2
3.3

4.4



